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1. Cardinal Numbers ( Z:8% )

0 zero 30 thirty

1 one 40 forty

2 two 50 fifty

3 three 60 sixty

4 four 70 seventy

5 five 80 eighty

6 six 90 ninety

7 seven 100  one hundred

8 eight 101 one hundred {and)one

g nine 200 two hundred

10 ten 1000 one thousand

11 eleven 100,000 one hundred thousand

12 twelve 1,000,000 one millien

13 thirteen 1,000, 000,000 one billicn

14 fourteen (%= one thousand million)

15 fifteen 1,000,000, 000,000 one trillion{%=
one billion)

16 sixteen 1015 one quadrillion (=2 1024)

17 seventeen 1018 one quintiilion (= 1030)

18 eighteen 1021 one sextiliion (9= 1036)

19 nineteen 1024 one septillion (=2 1042)

20 twenty 1027  one octillion (9= 1048}

21  twenty-one 103  one nonillion (9= 1054}
1033 one decillion (<=2 1060)

(3] w2 2= vhd 2ol ¢llx ¥,
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1010

30, 004, 000, 000

+ 109 o498 47} g,

A& 1,000,000,000 (109)S 2]u|§tc).

the tenth)

i

: one followed by ten zeros(ten to

: three followed by ten zeros

uje} eld= Wgol chac
ThA] WEhA pillion 74R|= Zoi}l billion o] §H &
ZAlol 4= 1,000,000 x 1,000,000(1%)& 2njste] oja]of

of o]8] Fatol] cislolME u|Ae HujsteE, AL
simhil el A HPol delich

7,564, 329 seven million, five hundred and sixty-four
thousand, three hundred and twenty-nine

5,376,982,134,653 five trillion, three hundred seventy-six
billion, nine hundred eighty-two million,
ore hundred thirty-four thousand, six
hundred fifty three

* hundred Thgol and@ WolA gl Zel Q2jelut Aol
A& o8 sk Aol Qo

2. Ordinal Numbers ( JFF#% )

first
second
third
fourth
fifth
sixth

=1 O N oW W N

seventh

- 180 -

11
12
13
20
21

100

eleventh
twelfth
thirteenth
twentieth
twenty-first
thirtieth
hundredth
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8 eighth 101 hundred first
9 ninth 1000  thousandth
10 tenth

3. Decimals{ /p¥ )

.1
.01
.00
. 000001
9.623
0.347
28,432,028

decimal (point) one, one tenth

decimal (point) naught one, one hundredth
one thousandth '

one millionth

nine point six two three

zero point(decimal) three four seven
twenty-eight thousand, four hundred thirty
two point (decimal) zero two eight

0.555...= 0.5 zero peoint five recurring

0.37
0.2473

4, BATNR

= M O H W

I
K

et VR

zero point thirty-seven recurring

zero point two four seventy-three recurring

plus

minus

plus or minus

minus or plus
multiplied by
divided by

equals, is equal to
approximately equals
does not equal, is not equal to
is greater than

is much greater than
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2 is greater than or egual to
b is not greater than

azb a is not identical with b
< is less than

{ is much less than

£ is less than or equal to

is not less than

1 is perpendicular to ]
a=h identity(EE&R), a is

identical with b.

4 is parallel to
is antiparallel to

Z angle A increment of
~ the difference between
) therefore )
b a~Db, the difference
seause between a and b
-8 for example )
? 8 fgat . P aabh a varies as b,
L= s . .
H© . : a:b the ratio of a to b
—_ vinculem
equals

a+h, vinculum a plus b

() brackets or parenthesis
(a+b), bracket a plus b bracket closed

[] angular brackets
{1} braces, is used to represent a set
% percent ¥ to remove parentheses : ¥¥&
ot
to bracket : HRE
= l_ul_.

i

---=' priee or dash

-——-" gsecond or two dash

-—-="" third or three dash
* degree
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1bs, /0"
1bs./o’

[ —— —
-4 ]

4. 4, AT 0 =Y g gl

h=

square inch

square foot

pounds per square inch
pounds per square foot
foot(feet)

minute

inch(-es)

integral

integral between limits a and b

A...nor Asub. n
a dash sub, n

vector A
a bar

A...nor Asub. n
a dash sub. n

vector A
a bar
a- hat, a wedge

a star

asolute value of a

d squared dy divided by di square
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* 02 a] X o] zeroglal ¢jour} F4of M= naught 2kl 3}
t 2% e
¥ q=Yolsl 2xje|7ial. ...
..... to two places of decimals
* A A3xtE] 74A] Akl
..... to calculate down to three place of decimals
* eHlAL(RERDE). ...
..... recurring decimals, circulating decimals, repeating
decimals
5. Fractions{43%)
ohe half, a half
one third,a third
one fourth,a quarter
one fifth, a fifth
one tenth, a tenth
one twentieth, a twentieth
one twenty firsi, a twenty-first

three twenty firsts

four twenty thirds

a P — [=3 P-4
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100 seven hundredths
—i— three fourths, three quarters
123
564 one hundred and twenty-three over
five hundred and sixty-four
3—:13— three and one third
7 . .
6—8— six and seven eights

* Faoia BAIE BA 742, E22E Fod H4=E deut
47 |Sod BE, 22 Al s & Ut

2 Gt WOBAE A1 oY 1o o4 Ui upst
o] 94 BAls £a1F 42 gL * over(by) CH&o]
2R 4248 7)4E gect e 48 o Bzl

-%— iwo over three, two by three

6. proportion( H:41)

3:6 = 4:8 three is to six as four is to eight

. . . a
# A ratio is written — or aib

b
The statement of equality between two ratios is
aproportion—ﬁ—= ; or a:h = c:d,
extreme S ¥ HAH)
mean . 1,]{30 A}
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direct proportion 1 Auy

be in direct proportion to : Au]a|&lct
inverse proportion Dok

be in inverse proportion to : whijgd|s}c).
recxprocal =

A2 g Fote Qiﬁiﬁlﬂt}
The volume varies inversely with the increase of
pressure,

7. Powers and Roots[®(J)z} Z{#)]

32 =9 three squared equals nine, three square
equals nine
33 = 27 three cubed equals twenty seven
. three cube equals twenty seven

aZ a squared, a square
a3 a cubed, a cube, a tripled
at a to the fourth {power) or the fourth power
of a
an a to the nth (power) or the nth power of a
ao a to the minus nth {power} or the minus nth
power of a
¥
a a to one-half (power)
_i. ]
a a to the minus one-half (power)

K=aro-1 X equals a times r to the n minus one power

* exponent : X|4:(35E)
a3 has base a, exponent 3.

raise a to the nth (power) : a§ n% ()5t}
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¥ a the square root of a
3¢_§_ the cube root of a2
nfr;_ the nth root of a
¥ atb the square root of the quantity of a
plus b
5+41/T five plus, four times the square root

of ninus one

*%m y2a2+2h? - ¢ one-half the square root of the
quantity two a squared plus two b

squared minus ¢

the square root of twenty-five

25

3y27 the cubic root of twenty-seven

3y 8 =2 the cubic root of éight equas twa~

¥ the evolution[7JuH BHJ7)]
8§ : the radical quantity
3 : the index of the root
: the radical sign
2 ' the value of root

a radical expression @ Fg|&(4EHER)
extract the nth root of a : a & ngd& 3},
Find to the decimal places : 365 2] HW2 g A4
the square root of 365. 2z18] #x] Fste).
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8. addi tion{MI1ZE), substraction(Jk ). mltiplication(E) =
division{E&ik)

[
L4
[} ]
1

4 One plus three equals four,
One plus three is equal to four.
One plus three is four.
One and three are four.
The sum of one and three is four,
How much are one and three ?
5 -3 =2 Five minus three equals two,
Five minus three is egual to two.
Five minus three is two,
Five minus three makes two,
Three from five leaves two,
Take three from five and the remainder is
two,

How much is five minus three ?

7 x 2 = 14 Seven multiplied by two equals fourteen.
Twice seven is(are) fourteen,
The product of seven and twn is fourteen,
Seven times two equals fourteen,
How much is seven times two ?
What is seven times two ?
Multiply seven by two,

15 + 3 = b Fifteen divided by three equals five.
Three into fifteen goes five times,
Divide fifteen by three,

wlss

Four over five plus two over seven eguals
thirty-eight over thirty-five,

el
-
'~qlba
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(6+5§ - 4.66x3)+3£ Six plus five and three-fourths
4 7 . . i s . .
minus, four point six six multiplied

by three, all divided by three and
one seventh,

{a+b}c the quantity a plus b times c,

al-bZz{a+b){a-b) a squared minus b squared equals the
guantity a plus b times the quantity a
minus b or a squared minus b squared
equals parenthesis a plus b times
parenthesis a minus b.

{a-b)2zal-2ah+h2 The quantity a minus b squared equals

a squared minus two a b plus b squared

(a+b)n;~an+nan-lb+ Eﬂ(._rl-_;ﬁ a
The quantity a plus b to the nth power equals a to the
nth power plus n times the quantity a to the n minus
one power times b plus n times n minus one to the n
winus two power divided by two times the gquantity a to
the n minus two power times b squared down to b to the
nth power.

* a"& a to the nth (power)2tRL ghE Zlo] FAlolut RSl

a2l | a to the n ojelii: ¢lth.

k= 81(—%—)8 k equals eighty-one times two-thirds to
the eighth power,

b(c+d) a divided by the whole quantity b times
quantity ¢ plus d
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(—%-C+ d) - a over b, times c plus d in parenthesis
1 . i
‘55(55:275*- one over the guantity a squared times the
quantity a squared minus four, to the
third power
a3+] . .
RS a to the third power plus one over{divided

by) the quantity a squared plus one, to
the two-thirds power,

1
lim — (1+2+ ... +n) )
n-oo np2 the limit as n goes to infinity of

the gquantity one over n squared times
the sum of the first n positive integers
or the limit as n goes to infinity of
the quantity one over n squared times
one plus two plus, plus n

—%— {a[b+{c-d)]}} one-half open brace, a open bracket b

plus open parenthesis ¢ minus d, close
parenthesis close bracket and brace,

£ (.0 14 18 2% dolde A8 A= g Pl 2
U A dele] mhet 4 UBZke Aoole HET Fe7t
Y e s,

* (a-bleg2abeb? 2] U 4E R Esh

The square of the difference of two terms equals the
square of the first term minus twice the product of the
two terms plus the square of second term .
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¥(a+h)(a-b)=a?-b?28] W &-& U2 EQIA
The product of the sum and the difference of two terms

equals the difference of their squares,

factor

factor, factorize
expansion

expand

expression

formula

equation

evaluate

monomial

binomial

trinomial-

polynomial

a linear eguaticn

a guadratic equation
simul taneous equation
remove parenthesis and
arrange in order of
descending power of x

transposition
transpose
elimination
eliminate
substitution
subtitute
subtitute A for B
rational

rationalize

P
;4= Bapsic.
: AA

1 AAECL

: 4
PARE
PB4

P g it
kel
;28

: 394

: Thea
JERER
222 PR

i R

D BTG BolM x& 7E(B¥)Y
&2 vigsich,

: olR(BH)

: ojgistey.

t AA )

: 7S,

: ol

: chelstet,

: A € Bol tisrek

: fel (HE)

: falopsiu,
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I
A& FrCh

solve the equation for x : Xof #3dlo] Wt

9. Logarithms(%8)

loga log a, log of a.

logza log of a to the base two,

logR=A+ —,?‘— + —%g-ﬁ—- LogR equals A, plus B over T,
plus K over logR.

loghk =KlogN The logarithm of the Kth power of N
equals
K times the logarithm of N.

log ¢y N = —;— logN The logarithm of the qth root of N
equals the logarithm of N divided by
q.

L 1
logAn = ry logA Log of A to the one over n power

equals one over n tines log of A.

¥ antilog(antilogarithm) : &rf4
tables of logarithms : tR4R

10. Permutations(EF)

factorial : !
five factorial : 5!

P(n.r)=n(n-1){n-2} ---(n-r+1) = (EL)!

Permutations of n things taken r at a time equals n
times n minus one times n minus two down to n minus

‘r plus one equals n factorial over n minus r factorial.
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P= n! P equals n factorial divided by p
plqir!
factorial times q factorial times r
factorial.
% factorial 1 Al (BERk)

n n (2nt)

z (2= _

r=0 r (n!)2 The sum from r equals zero ton '

equals of the quantity n things
taken r at a time squared equals
two n factorial divided by n

factorial squared.
11.combinations(# &)

_P{n.r) _ n!
et T rt{n-r)!

Cln-r)
The combinations of n things taken r at a time equals

peruytations of n things taken r at a time divided hy
r factorial equals n factorial divided by r factorial
times n minus r factorial.

(n)_ n!

o= ;T(E:FT! The combinations of n things taken r at a

times equals n factorial divided by the
quantity r factorial times
n minus r factorial.

12. differentials(iX%g)

f(x) f of x, function of 1
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Ax delta x
dx d x (differential of 1)
dy . . e
dr derivative of y with respect to X
oy i {vati ' tt
EE partial derivative of y with respect to %
d2y . . .
—axt the second derivative of y with respect to &
aty . L th
2 the second partial derivative of y wit
respect to X

8z . . s .

10y the partial derivative with respect to
X of the partial derivative of z with
respect to y

dby o .

am the nth derivative of y with respect to 2
dey .

—Z = pla=8ix ~{gZavnx
) a?e (aZe“ax)

The second derivative of y with respect to
X is equals to minus the quantity alpha
squared times e to the minus alpha times X
power,

agy”’ +azy“+ary’vagy = 0
a sub three times the third derivative of
the function y with respect to { } plus a

sub two times the second derivative of the
function y with respect to { )........ or
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a sub three times y triple prime plus a sub

two times y double primes plus a sub one

times y prime plus a sub zero times y equais

zero,

+ 8-S dod g Zol Hasht Ang ¢
& wels 22 ol s,

13. Integrals(f4)

n
Y Xa The sum form a equals one to n of ¥ sub a,
a=1
2
e - [ -

The indefinite integral of a times Y with
respect to X equals a times the indefinite
integral of 1 equals the quantity a times x
squared over two plus c.

Ibq f(x)dx the integral form a2 to b of ¥ or the

A=a integral between the limits X equals a
and x equals b of the function of ¥
with respect to x

jjf(x,y)dxdy The double integral of f of %, ¥.

d b

J I f(x,y)drdy integrating from ¢ to d with respect
o8 to y the integral from a to b of f of
X,y with respect to 1

- 175 -



o7y, XY ey & U B
‘\‘\.
a.

I}i&* dx = aleg|x-a] The indefinite integral of the
quantity a over ¥ minus a with
respect to ¥ equals a times the
quantity log of the absolute
value of ¥ minus o,

Z
Ja _T:EEEEEE the integral from zero to pi over two
of the quantity one over one plus @

times cosine of ¥ with respect to 1

* elojusirt Jhs Afole
the integral from zero to pi over
two of dx over one plus o times
cosine of

14. Trigonometry(=f5)

sin-1X inverse sine (of) X, arc sine(of} X

cos~1X inverse sosine (of)} X, arc cosine (of) X
tan~1X inverse tangent {of) X, arc tangent (of) X
sinh X hyperbolic sine {of} X

sin A + sin B = 2 sin ¥ (A+B)-cos ¥ (A-B)
The sine of A Plus the sine of B is
equivalent to two times the sine of one-half
of A plus B times the cesine of one-half

of A minus B,
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s foflMe] e WHe 4o =47t A&
Atgto] AU 7t Ffele EHO g2y

32 e HFelE FHE quantity,
parenthesis 52 T& Yol FHA
Eystoiel gich,

sin 38 =3 sin G-45in3 8
The sine of three theta is equivalent to
three times the sine of theta minus four

times the quantity sine theta cubed.

1 -cos-A

2

sin ¥ A + Jf

The sine of one-half A is equivalent to

plus or minus the square root of the quantity

one minus the cosine of A gll over two,

gin“1({-1)-cos-1(-1)}
inverse sine of minus one minus inverse cosine

of minus one

agt agz
= ajiazz - ajzazil
azi az2

The determinant with the diagonal a sub one

one to a sub two two eguals a sub one cne
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times a sub two two minus a sub one two
times a sub two one.
or
The determinant of the matrix a one one,
a one two, a two one, a iwo two equals a one
one times a two two minus a one two times a
two one.
* 99 AL WEgg HE o ojx, ¥ WL

A7pE A 9l & wojrh,

15. Figures([#)

A B, the straight line segment AB

A ...initial point A (the end A)

B ...terminal point B (the end B)

\h/////’w\ free curve
(;\

arc
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a b
ab
e e
a b
a
b

T, VT U B & deER

the broken line(the composition of

connected straight lines)

the point of intersection of lines a and b

Line a is parallel to line b.

the distance between the straight lines a

and b

the perpendicular a on b

The line determining an acute angle o
0 is the vertex of angle.

@ is the angle AOB,
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\\;ﬁgii\\ the opposite angle

I3 the right angle

the obtuse angle

:: the acute angle

180°
{ } the straight angle

The equilateral triangle

A,B,C : the vertices(vertex® ¥4
Vertices)

a,b,c : the sides

a ! interior angle

o' : exterior angle
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¢ the isosceles triangle

a,b . the sides

b a ¢ ! the base
A L B h : the perpendicular
bisector of the line AR
7 the right triangl
A e rig riangle
¢ : the hypotenuse
c a
b : the side adjacent to o
AL b e a : the side opposite to ¢
the square
d

d : the diagonal

the rectangle

the trapezoid
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E the parallelogram

the trapezium

(%} The names of polygens having 5, 6, 8, or 10 sides:
o sides ! pentagon
f sides : hexagon
8 sides ! octagon

10 sides : decagon

The circumference is the length of the curved line. Any part
of the circumference is cailed an arc.

A line drawn through the center and terminating in the
circunference is called a diameter,

Half the diameter is called a radius.

The straight line joining the ends of an

circumference

arc is called a chord, and the chord is

said to subtend its arc,

'62

¢ A straight line which touches the circle

at one point only is called a tangent.

If a straight line cuts a circle at two

points, its called a secant.
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The area bounded by an arc and a chord is called a segment,

The area bounded by twe radii and an arc is called a sector.

the circumscribed circle({of the triangle)

the concentric circles

@ the inscribed circle{of the triangle)

©

@ the eccentric circles

1 the cube

~

the rectangular solid

i'
|
NN

the right circular cylinder
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the oaobligue cylinder

the right pyranmid

the right circular cone

the frustum

SN

* The names of polyhedrons. - hedron{&u]o])... H#E
four-faced polyhedron : the tetrahedron
six-faced poiyhedron : the hexahedron
eight-faced polyhedron : the octahedron
twenty~faced polyhedron : the icositetrahedron

forty-eight-faced polyhedron  the hexakis-octahedron
ithe sphere

104
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Area of rectangle (or oblong) is equal to

1 length, multiplied by breadth, then

area = a x b,

Area of triangle is equal to length of
base, multiplied by a half of the

perpendicular height, then

b—n

!
L

area = a x ¥ h,

Area of rhombus or paralielogram is equal

to length of base, multiptied by the

—

perpendicular height, then

area = a x h,

Area of trapezoid is equal to half the
b '|____ sum of the two paratlel sides, multiplied

& by the perpendicular distance between the

two sides, then

Area of sector of a circle is egual to
length of the arc, multiplied by one half

of radius of the circle, then
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-
area = I X ——

2.
Length of arc is egual to diameter of the
circle, multiplied by the nuxher of

degrees and = /360, viz. .008727.

Area of parabola is equal to length of
base, multiplied by two-thirds of the
perpendicular height, then

2

area = a x — h,

3

Area of syuare equals side sGuared, then
area = a2,

Length of a diagonal line efuals side,
multiplied byy 2 , then length of a
diagonal line = 1,4142 a,

Area of ellipse is equal to maxiwmum

length, multiplied by maximum breadth and

a Juarter of z, then

area = a x b x — .

1T O
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Area of circle equals diameter sguared,

multiplied by one-fourth of &, or radius
squared, multiplied by x, then

area = d2 x 7854

It

rZ x 3,1416.

Solid content of cube equals edge cubed,

then solid content = ad,

Total area of cube equals edge sguared,

multiplied by 6, then

total area = &% x 6.

Solid content of rectangular
parallelepiped equals length multiplied
by breadth and height, then

4
,L--Jl solid content = a x b x c.

pot—s 73—t

Total area of rectangular paralielepiped
is given by the following equation:

total area = (axbtbxc+cxa) x 2.

Selid content of sphere equals diameter
cubed, multiplied by =/6, or radius

cubed, multiplied by 4x /3, then
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=0l
/ }

b —

b4

selid content = 43 x —
6

4

=rd x —

3.

Where d is the diameter of the sphere, r
is the radius of the sphere.

Area of sphre eGuals diameter squared,
multiplied by x, or radius squared,
muitiplied by 4, then

area = d2 x x

rZ x 4x,
Yhere d is the diameter of the sphere,

and r is the radius.

Solid content of cylinder equals area of

base multiplied by length, then
T
solid content = —— x d21,

Total area of cylinder équals
circumference of base multiplied by
length of cylinder, plus two times the

area of base, then

x d?
total area = xrd x 1 + 2 x -“;'—
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Solid content of cone edquals area of base

multiplied by one-third altitude, then

mdd 1
selid content = —— x —— h,
3
Total area of cone €Guals circumference
of base, nmultiplied by one-half slant
height, plus area of base, then
s 7 d?
+
4

total area = xd x
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o] WES WHIECIHE A9 A¥EA ASHE £ 54, 715 2 =92 9t
AT, A1l 2 99 & G e P

719 971
A9t vl = 29 o|F& LolFH £
1,000: one thousand ()
10,000: ten thousand (1%}
100,000: one hundred thousand (10%F)
1,000,000: one million (100%H)
10,000,000: ten million (1000%H)
100,000,000: one hundred million (19)
1,000,000,000: one billion (10%)
10,000,000,000: ten billion (100%)
100,000,000,000: one hundred billion (1000%)
1,000,000,000,000: one trillion (1)

ol
)
o,
tlo
al
32
i

2,164,956,487,248 & 9GojZ ¢jojHd

Two trillion, one hundred (and) sixty-four billion, nine hundred (and) fifty-six
million, four hundred (and)

eighty—-seven thousand, two hundred (and) forty-eight

2. A ¢71

1st first 12th twelfth

2nd second 13th thirteenth
3rd third 14th fourteenth
4th fourth 15th fifteenth
5th fifth 20th twentieth
6th sixth 21st twenty—first
7th seventh 30th thirtieth
8th eighth 40th fortieth
9th ninth 50th fiftieth
10th tenth 100th hundredth

11th eleventh

¥ 9] @9 hundred, thousand, million, billion, trillion 5<& I & H49 71 &
AE Brgom WASA R

3. A% 9]
A=E guty 2oA FE F AHH B e

2y

19814 nineteen eighty—one



1400d fourteen hundred

10073 one thousand and seven

3134 three thirteen

1014 one hundred and one

393 B.C. three ninety—three B.C. B.C.:= 7] YA (Before Christ)
1990s the nineteen nineties (1990'dth)
1900s nineteen hundreds (19003 ™)

'90s nineties(90'd )
19054 nineteen 0 five (02 &3] o2 gl&t})
20004 the year two thousand

(20000] 8wt 31 o] A8ty 7t the yearS oo E9<1t})

20059 (the year) two thousand five

4. 2% 87

1. 98 (date)= A5 BE 7152 L1 Zo| 21 gt
1973¢ 249 742 bS53 Zo] ¥71¥ F .

February 7, 1973 T+ 7 February, 1973
February 7th, 1973 E+ 7th February, 1973
Feb. 7, 1973 T+ 7 Feb. 1973
02/07/1973 EE 9= 1 07/02/1973
02-07-1973

4. N7z}t 817
AZHe A & 47 712 Uig g W past(after)Y to(before)E AHE-3lA]
o= ¥ol

8:15 eight fifteen EE a quarter past(d= after) eight
9:30 nine thirty ¥+ half past(after) nine

10:45 ten forty—-five T+ a quarter to(¥= before) eleven
11:00 a.m.  eleven(o'clock) [ ei m]

% Slo] "~Ero] BowW o'clock® AFEEHA RETh

¥ 9274 am.(ante meridiem) [ei m], 2% p.m.(post meri®fem )[p : m]
5. A3l 3 ¢7]

713 6540 seven one three six five four O

347-2289 three four seven two two eight nine (¥]=)
three four seven double two eight nine (¥3f)

# 02 Oloul, zerolzi()roul =+ nought naught[n :t]2 ¢l=th

6. 53} 817



$7.25

W175

7. o1, 23}, wHk, ols}, 7kA|, HE g7

seven dollars (and) twenty—five cents

I
e

seven, twenty—five (7232 254 E)

one hundred and seventy-five won (1709)

5 or more 5 and under
50) 4+ 5 or above 50]3&} 5 or less
5 and over 5 or below
more than 5
523} over 5
- above 5 57HA (5 ¥ g up to 5
exceeding 5
in excess of 5
der 5
Hnee 5RE(5EH) at or after 5(54)5-E)
5u) gk below 5
on or after 5(56¥4%-§)
less than 5

8. vl &, vl 17

H]&: They passed the laws by 6 : 3. (six to three) .

Hj4=:  twice / double (F-Hl)
. three times / three-fold / triple (A|®l)

: four times / four—fold / quadruple (d]4})

five times / five-fold (Z}A )




